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An accurate clock shows 2 0’ clock in the Morning, Through how may degrees will the hour hand rotate when the
clock shows 9 0’ clock in the evening ?

2.8 KACTPE0 GEho 2 Kobo Srdkod. wownd & KEWrE0S* Kot Luey A &fer 8BAE ©b GEcHo 9
500 Brdod. ?

1) 144° 2) 210° 3) 168° 4) 570°

Aboy saw the clock when it is Tuesday 5 a.m. The clock loses 8 minutes in halfa day. What will be the true time
when he sees the clock at Friday 10 p.m. ?

&8 erentd HonFardo adabo 5 Hoveo HF NEArTeR) Sreed. @ KEdrdo @8 12 Hotreos® 8 Ao

?6‘3@0&. ®oNd & K&rSo HEaeso 10 p.m. Q Jordod, a:é%é@__)zé Voo o ?

1) 9pm 2) 10 pm 3) 11 pm 4) 12 pm

A clock gains 7 sec. in4 mins. and was setright at 4 am. What time will it show at 6 pm on the same day ?
65090 4 HobedH BHOBAWDES ef KATESo B8 4 Jro 7 VB0E SR BPorHHod. @and ©F S

FoHoEo 6 KoL & KEATEo Jod Jraird) Krrddyod ?

1) 6:15:20pm 2) 6:15:30pm

3) 6:24:30pm 4) 6:21:40 pm

Aboy observes the reflection of a wall clock in a mirror. The time observed by the boy in the mirror in 3 hours 45
minutes what is the actual time show in the clock ?

a8 Emow, e KEKrTY) T8 K808 BFS° &) ©god® SrRSHH SHoaho 3 Kowe 45 A EIY YTV

oben KEATE0E® $Hcho Jod ?

1) 8 hrs 15 min 2) 9 hrs 45 min

3) 8 hrs 45 min 4) None

The time on the watch is 4.30 am. If the minutes hand points towards the South. Then the hours hand will point
towards ?

2.8 KBSrE0S® &iaho 4 Hotre 30 AP Ao HoKk, AHare Swep S8 B ¢od, od dabos® Kote

Soey D OIS &otHid ?

1) South East 2) East 3) West 4) North West

When the time is 10.30 pm. If the minute hand points towards South, the hour hand will point towards

FchHol@o 10 Hotrw 30 AP BHHo S0, Aare Swey 8o OIS ¢od, Kot Swep & BFS® &othHid ?

1) North - East 2) North - West 3) South - East 4) South - West

A clock strikes once at 1 clock, twice at 2 clock, thrice at 3 clock and so on. Ifit takes 10 seconds to strike at 6
clock. Find takes 10 seconds to strike at 6 clock. Find the time taken by it to strike at 12 clock

2.8 KEATE0 2.8 Kotk .88, 2 Kot 2 &), 3 Koted 3 JB Kot EHH0s. ©od 6 Kobe dchos® 6

B ot et 10 DESe oo S:nHod, 12 Hobe B0’ 12 P8 Kot St Jod Sabo Sxtenod?
1) 18 Sec 2) 22 Sec 3) 24 Sec 4) 25 Sec

A clock is set to show the correct time at 8 am. The clock gains 10 minutes in a day what will be the approximate
true time when the watch indicates 4 pm, the next day ?

a8 H&AGo 8 a.m. & B Jhcho SedKYH 6. ®ond © KEPE0, 2.8 B 10 i ergf HH&od. ©ond o

KBGO & Sars Ser 4 pm. HHo0H0 éﬁﬁ)oééa@)cﬁa ez Joaho Qo ?

1) 3.36 pm. 2) 3.47 pm. 3) 3.50pm 4) 3.54 pm.

There are two clocks on a wall, both sets to show the correct time at 8 am. One clock losses 2 minutes in an hour
while the other gains one minutes in one hour by how many minutes do the two clocks differ at 12 noon on the same
day ?
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(AN €)e0508 Bod $5&05rTrost $HHcho 8 a.m. ©5HE0d. el KE&TE0 Kot 2 Jnen %"é‘béooé%, é)@(iwé\
HEOSTE0 K0er% 2.8 RS ©Sbore PotHehHod. ©and DgRgsmo 12 Kobre $5500008% @ Bok K&ASrore 05
$ocho B Do ?

1) 6 min 2) 9 min 3) 8 min 4) 12 min

The hour hand and the minute hand in a clock are at right angles for the first time after 3 clock at

2.8 KBOSPB0S5 Koo ey $B05N NLRSNe Soey 3 Hotsen TrBS SBard InSBIBM woasinod® God Kcho

2 2 8 8
1) 3hrs 24Hmin 2) 3hrs 26H 3) 3 hrs 26H 4) 3 hrs 32H

The time between 3 clock and 4 clock when the minute hand is 4 minute spaces a head of the hour hand is
QnBdme Swep, Koe Sney B8 4 D50HR oBBInen S0otHd Tod SN, KAASTB0SE 3 Koo |, 4 Kook
263(55 Joodho

. T
1) 22 min past 3 2) 22H min past 3

8 2
3) Zoﬁminpast3 4) ZOH min past 3

Aclockissetat 10 am. This clock gains 10 minutes in 24 hours. When the clock show 3 pm on the following day,
the true time'is ....

2.8 B3058d»ny 10 am Eécg @Eﬁo{:‘bmtﬁ). &3 KBASPEE) 24 Kotros® 10 Qhnnbnen @@ééé (aé:gé) BrHBH0d. &

2508 8% & KBTS 3 pm S HHATIE RS (BBGK) B0 ......
1) 18 minutes past 3 pm 2) 50 minutes past 2 pm
3) 48 minutes past 2 pm 4) 12 minutes past 3 pm
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